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memcpy (g, f,sizeof f);

int j=wlil;j<=m;++]j
9ljl-=glj-wlill;
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un

O $fjI01$ 00 000000000000 $$00000001 000000 $fjlIl$000000n
0000000 $$000000000 $ffo][0]=fl0][1]=1¢00 0000000001

#include<bits/stdc++.h>
using namespace std;
const int N=2e3+5;

int f[N][2],w[N];

int main
int n,m;
scanf("%d %d",&n,&m);
int i=1;i<=n;i++) scanf("%d",&wl[i]);
fl[ol[o]=f[0][1]=1;
int i=1;i<=n;i++
int j=m;j>=wlil;j--
flj1[0]=(Ff[jI[O]+f[j-w[i 0])%10;

int i=1;i<=n;i++
int j=1;j<=m;j++
j-wli]>=0) f[jI[1]=(Ff[j][O0]-Ff[j-w[i 11410)%10;
f[jl[1]1=Ff[j]1[0]1%10;
printf("%sd",f[jl[1]);

puts ;

0;
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